CCM7 Plus - Quarter 2 - Week 2 Name:

Solve: Z(Sx +4) = —2x + 35 Solve mentally:
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Solve mentally: x?= :—j Approximate the value of V18 to the nearest tenth
without using a calculator.
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Problem 2
Circle the irrational Solve mentally:  x°= %
number: 60006
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CCM7 Plus - Quarter 2 - Week 2 Name:

A garden has an area of 144 Problem 2
Solve. Show your work! | square feet. If you want to
edge the garden with 1 foot
3x* =48 pavers that cost $2.35 each, OODID[D
how much will it cost you? IINOIC)
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Convert the following decimal fo a | Are repeating Problem 1
fraction in simplest form without | decimals rational or
using a calculator. irrational numbers?
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